Op_ GeV]

Ratio to ATLAS

2.5

1.5

0.5

7000 GeV pp Underlying Event
[T I T I T I T I | T I | T I T I T I T I T |_
B Average p_vs Ny, (n| <25, p_> 0.5 GeV) |
— m ATLAS ]
| --4-- Herwig 7.2.1 default i
IS ¢ Sherpa 2.2.9 default |
[ e _
| - _
Bt ST L ’.“I%I-éj/:‘ 3}
- B SRR S A gt e it 0
_ ¢ {3 | - -G _|
B gﬁ';&g&iii—i’ﬁ“ﬁﬁ”ﬁﬁnnnn--ll i b
__ | ' | | | | | | | | | | z
— [ [ ' ' I:

R R S I M B |
0 10 20 30
N

Rivet 3.1.10, = 3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


